2427

&

DuaL ELEcTRIC AIR CommAND I

INSTALLATION INSTRUCTIONS

Congratul ationsonyour purchaseof anew Dual ElectricAir
CommandKit. Thiskitwasdesignedtoprovideinflationcontrol
of your air helper springs. This kit will be an asset to your
vehicle, meeting nearly al of your air supply needs.

Pleasetake afew minutesto read through theinstructions,
identify thecomponents, andlearn how to properly install your
Dudl ElectricAir CommandKit.

NorTe:

The Dual Electric Air Command Kit can be used with all
air helper spring products. If you are installing an air
suspension system, do not install the air line tubing to the air
springsasstated in the suspension systeminstruction manual.
If you are adding the Dual Electric Air Command kit to an
existing air suspension system, you will need to deflate the air
springs and remove the air line tubing.

NOTE ON CONNECTING THE AIR LINE TUBING

Cut theair linetubing as squarely as possible. To connect
theair linetubing to thefittings, push thetubing into thefitting
asfar aspossible. If for any reasonthetubing must beremoved,
releasetheair pressurefromtheair hel per spring. Pushthecollar
toward the body of the fitting and pull out the tubing. To
reassemble, make sure the tubing is cut squarely and push the
tubing back into the fitting.

TOOLSREQUIRED:

¢ POWERDRILL ¢ ELECTRICAL PLIERS
e 3/16" DRILLBIT e PLIEERS

e 1/8" DRILLBIT * (2) 7/16" WRENCHES
¢ CENTERPUNCH e UTILITYKNIFE

* PHILLIPS SCREW DRIVER

PARTS LIST

DUALAIR CONTROLPANEL 2188
COMPRESSOR 9285
1/8NPT STRAIGHTFITTING 3055
1/4"x1/4"x1/4" TEEFITTING 3025

10-32 x 1" MACHINE SCREW
10-32LOCKNUT

#10 FLAT WASHER
100FT.AIRLINETUBING

PN O WER R R

NYLONTIE 15
15FT. 10 GAUGE WIRE
FEMALE SPADE CONNECTOR
MALE SPADE CONNECTOR
RING TERMINAL
WIRECONNECTOR
IN-LINEFUSEHOLDER

20 AMP BLADE FUSE 1

PR NNRP R

24-8333

09-09

NAD-33629-1



Air Line & Wiring Diagram

3

AIR LINE

10 GA. WIRE

O O —

MALE AIR FITTING

AIR LINE Uﬂ:@

D:ﬂj 3 WHITE

BLACK
(TO GROUND)

RED

PUSH-TO-CONNECT
T-FITTING \

—

RED

3

POSITIVE 12 VOLT,
20 AMP MINIMUM,
IGNITION ACTIVATED

1

POWER SOURCE

DASHBOARD
ILLUMINATION
WIRE

20 AMP
FUSE

BLACK

(TO GROUND)

JHIM VO 91

(M)t

WHITE

)

AIR FILTER
RED BLACK
TO DASHBOARD (TO GROUND)
ILLUMINATION
CIRCUIT

AIR LINE

AIR LINE

TO COMPRESSOR

CONTROL PANEL
(BACK)

POSITIVE 12 VOLT,
20 AMP MINIMUM,
IGNITION ACTIVATED
POWER SOURCE

()

Male spade connector

=e)

Ring Terminal

Inline fuse holder

TO AIR SPRIN
FROM
COMPRESSOR
AIR SPRING AIR SPRING
(sold separately) (sold separately)
Connectors:

0O

Femal spade connector

[

Wire connector

FIGURE “A”




BRASS SLEEVE
COMPRESSOR
FOOT

T

“~__ RUBBER
ISOLATOR

#10 FLAT WASHER
BRASS SLEEVE

[ 1) . OngPRESSOR
M FOOT
[—

#10-32 LOCK
NUT

\ ™~ RUBBER
\ \ ISOLATOR
W %I\ VEHICLE
MOUNTING
. SURFACE
#10-32x 1" PANHEAD _/ \
N HEAD #10 FLAT WASHER
Figure"B"

SIDE VIEW OF CONTROL PANEL

TO AIR SPRINGS

BARB FITTING

dns 713a

a
FROM COMPRESSOR

Figure"C"

Figure"D"

STEP 1 - SELECT A MOUNTING LOCATION FOR THE CONTROL PANEL

Select amounting location on the dashboard of your vehicle. Thisshould be
aprotected location so that the control panel will not be damaged. To mount the
gauge panel underneath the dashboard, use the control panel as atemplate and
center-mark each mounting hole on the dashboard. Drill a1/8" hole on each of
the center-marks. Do not attach the gauge panel to the dashboard at thistime.

STEP 2 - PREPARE THE COMPRESSOR

Install the 1/8" push-to-connect straight fitting into the head of the air
compressor. Install therubber isolators intothecompressor feet seeFigure” B" .

STEP 3 - PREPARE THE CONTROL PANEL

Cut two piecesof air linetubing 3-1/2" inlength, making the cut as square as
possible. Before attaching the air line tubing to the barbed fitting on the gauge
panel, soak the end of the tube (1) in hot water for afew minutes to soften the
tubing. Install each length of tubing on to the barbed fittings on the back of the
switches marked SUP (supply). Do not use pliersto work the tubing on to the
barbed fitting, as the tubing may be damaged. Insert the remaining ends of the
tubing into a push-to-connect T-fitting see Figure" A".

STEP 4 - MOUNT THE COMPRESSOR

Begin by removing the negative battery cable. Select aconvenient location
to mount the compressor. This location should provide ample air flow and be
protected from airborne debris and moisture. The mounting surface should be
rigid to support the compressor, such as under the hood on afender well or ina
vented storagecompartment. Thecompressor can bemountedinany orientation.

Usingthecompressor asatemplate, mark anddrill four 3/16" holes. Any burrs
inthe holesshould be removed to prevent damageto therubber isolators. Mount
the compressor using the 10-32 x 1" machine screws, 10-32 lock nuts, and 3/16"
washerssuppliedwiththekit seeFigure" B" . Maximumvibrationisolationcan
be achieved by properly mounting the compressor. The machine screw and nut
should betightened only enough to bottom-out the brassinsert see Figure" B" .
DONOT OVER-TIGHTEN. Over-tighteningwill crushthebrassinsert andthe
insulator, thereby reducing vibration isolation.

Attach the ring connector on the black compressor wire to a grounded
component of the vehicle chassis.

STEP 5 - ROUTE THE AIR LINE TUBING

Beforeinstalling theair linetubing, ensurethat thereisno pressureintheair
springs. Toreleasetheair pressure from the air springs, remove the valve core
from the manual inflation valves or release the pressure by using atire gaugeto
depress the valve stem.

A) COMPRESSOR TO CONTROL PANEL

Cut a piece of air line tubing that will reach from the control panel to the
compressor. Cut theair linetubing as squarely as possible and insert the tubing
into the push-to-connect straight fitting on the compressor. Insert the other end

intothe T-fitting onthecontrol panel asfar aspossibleseeFigures" A" & " C" . Donotfold or kinkthetubing. It may benecessary
todrill aholein thefirewall to route the tubing. Ensurethat the tubing is protected from sharp edges when passing through the
firewall. A rubber grommet may beinstalledintheholedrilled inthefirewall to protect the tubing from chafing.

B) CONTROL PANEL TO AIR SPRINGS

Cut two lengths of air linetubing. Each length must reach from the control panel to each air spring. Before attaching the air
linetubing to the barbed fitting on the gauge panel, soak theend of thetube (1") in hot water for afew minutesto soften thetubing.
Slidethetubing asfar as possible onto the barbed fitting marked DEL (delivery) onthe back of the paddleswitch seeFigures" A"
& " C". Install the opposite end of the tubing into the push-to-connect air fitting on each air spring. Routethe air line so that
the left paddle switch inflates the left air spring and the right paddle switch inflatestheright air spring. Make sure that the
tubing is protected from sharp edges when passing through thefirewall. A rubber grommet may beinstalled inthe hole drilled
inthefirewall to portect the tubing from chafing.



STEP 6 - ATTACH THE CONTROL PANEL

Place the control panel on the dashboard where the mounting holes were
drilled in Step 1. Use the provided screws to attach the control panel to the
dashboard see Figure" D" .

STEP 7 - ROUTE THE ELECTRICAL WIRE

Install the relay within three feet of the compressor. Nylon ties can be
used to secure any excess wire and the relay neatly into place. Route the
whitewire labeled “ Switch Panel” to the control panel. Connect the white
wire to one of the white wires on the back of the switch. The remaining white
wirewill be grounded to the vehicle. Next, connect the orange wire labeled
“Comp +” to thered (positive) wire on the compressor. Connect the red,
fused wirelabeled "Bat +" from the relay to the battery or another 12V

(positive) source capabl e of supporting 20 amps. See Figure" A".

ST1eEP 8 - WIRE THE CONTROL PANEL FOR ILLUMINATION

There are two wires (one red and one black) attached to the gauge on
the back of the control panel. Connect the red wire to afused dashboard
illumination wire. Connect the black wireto asuitable ground source see
Figure"F".

Attach the end of the positive wire to a dashboard illumination wire
usingawireconnector. Slipthewireconnector over theexisting dashboard
illuminationwireandinsert the un-stripped gauge panel wireinto thewire
connector. Closethewire connector over thewireswithpliersseeFigure
"E". Attachtheblack wiretoaground sourceby crimping aring connector
. " on to the wire and securing it to a suitable ground source on the vehicle.
Figure"F Note: Shouldadditional wirebenecessary toreachthedashboardillumination
wire and ground source, use 10 gage multi-strand wire.

STEP 9 - CHECK THE SYSTEM

With the Dual Electric Air Command Kit and your air helper springsinstalled, you areready to test the system. Reattach the
negative battery cable. Turnonthevehicle'signition. Pushthepaddle switch uptoinflatetheair springs. The gaugewill display
how muchair pressureisineachair spring. Inflatetheair hel per springsto 70 psi or maximumKkit pressure, which ever isless, and
check thefittingsfor air leakswith an applied solution of soap andwater. If aleak isdetected at atubing connection, check to make
surethat the tubeis cut as square as possible and that it is pushed completely into the fitting. The tubing can easily be removed
fromthefitting. First, releasethepressurefromtheair spring. Pushthecollar towardsthe body of thefitting and pull out thetube.

SYSTEM OPERATION

TheDual Electric Air Command Kit allowstheair springsto beinflated fromtheinside of thevehicle. Pushthe paddleswitch
uptoinflatetheair springsand pushthepaddleswitch downto deflatetheair springs. Eachair spring canbecontrolledindividually
with the corresponding paddle switch.

AIR HELPER SPRINGS

www.riderite.com



